<SEMRITEI ST ATOADGEH>
EISEXAER L BRI S THEED RS

— AR | axtbyte=0 ([ZHET DO FEAUT (ax thy,+e)*=(a*+b)r* THZHILD,
SRR (x,, v,) A T

P EEREE (a,b) £ B ErET HEL T OSERICHET ZHOARRFELUTOLSIAYES,
B SEXAER
(2a-5b) 2=29r2
(a+2b-9) 2=5r2
(4a-b)?=17r?

0 (FHEHXLAEXDO—H)

EEOX  2x-5y=0
X+2y-9=0 nE=E
4x-y=0

FRADETORE (418)

a = 1.8598 a, = ~2. 6561 a, = 5.1629 a, = 4.7445
b, = 2.1306 b, = 2.3185 b, = 5.9146 b, = -4.1415
r, = 1.2875 r, = 3.1391 ry = 3.5742 r, = 5.6073
EffE NI
4 >0 % 54 BIME SERENICET SHHA
x (t) =r,cos (t) +a, x (t) =rcos () +a, g
y (t)=rsin(t)+b, y (t)=r,sin(t)+b,
x (t) =r,cos () +a, x (t)=r ,cos (t) +a, < ANz
y (t)=rsin(t) +b, y (t)=r,sin(t)+b,
_8,
*EEHIERK
M%@Eﬂﬁ@%é%S&#éo P
Pﬂ%Eﬂ@«@ﬁ%%mkﬁéo }
WOES%Zx, PHORES %y LT3, ;
ZZTPQEPROFESDMMNT LT 5, ) E— R
APQHO TR A2, 15 LT= b X | x.yD ° H
ENENDOEE RO X, ERIBEEETIERL
chLEABREIROEBEAEXICL S,
n RIEE L SERXO
N zta=] BHSHE DA
/\/x2+y2+/\/ (5-x)2+y2:7 a:m %X}Fz.l o= 4.0322 ndAHEL

x<5

B LIER

B SEAHFERX

Za—bUEKYRICREITS

1
Pl — | | — | 17549
2 y
a'=(5x)"+y’ y=2.3933 lﬁﬁﬁ%miﬁﬁu

38



